KK AL A A TR F) |
novotechnik

Siedle Group

LS1 RS E L& B IR RS
e EENE/EIE, NOVOPADMEH A
BEHEEO, TEEERIX200 mm

2R J NOVOPAD il 245 A PR 45 fiph Fht e 2 00 4 S BT 75 £
BT PCBAEMR, T HLH . RS 1 (08 S Il i Sl s B

BOAT P EH B S e Pk R SO A TR VFR AT i R v 0 1)
J1. BRI, BRERSMEIRHE LS HE S T B,

e lbas N ER B A MR & (T ZRAERAT AT 3 ), WIfR
AR AR A dn, R AR RS BT 7 10 5 s 8 52 ) 05 A7
FEZESE, WAL s O™ EALRIR 72

P Teach-In DHREMD 5 5 AL BE 25 e RS W A A e, L IR 4
XHERE S

T AR B T 9, TOER, HARWMESZE,
PRI R R E . (S E TR R E, B

BG5S IR,

R

o MFEMK, WARPMASE, BITKETE 100X 10° Kigs)
o SbhsEikil e, 18x 18 mm

o W SCHERLAT

o TURAE R TR ER B G ET T BRI 17 B )

o A3¥EE 0.05% 5 0.1%

o MM, wElik £0.15%

o Rtk HL I B A S g

o 4 Teach-In ZhfE, LED 4TIREE S

o iR T .
o i R S 17 z 2 —
%% ] I
fr AF T, AISI 303, FMERL M5x0.5
B WO R, ARy
kA& [LECES AL IES
4 R J£T PCB #l) NOVOPAD Hi i J5iE]
WA 38 M8 x 1 Bl I, bl
3% PVC Bt 48, 3x0.14mm?, K2k
A # ASIC 4 L% SMD

$H £ 1%:022-89887198-8003/23712219-8003
{£H:022-89887199/23727926

PR3 :Wwww.cnnovo.cn, www.cnnovo88.com
H3F8: nwtk5@cnnovo.cn
BEZA:FET13114891271



RFHERFLAMCEARLFR2E novotechnik

Siedle Group
FrfERY (Z-45) ATk (Z3-31) kR (Z-45) ATk (Z3-31)
3 S| o ~ 3 ~
(2] -~ (2]
i o : ~ } o
1 J T ] - I |
DIN EN ISO 1207 45 2 DIN EN ISO 1207
M4x10 1,6 M4x10 1,6
HE I B HIE AL E
K140 Nem - K140 Nem -
M4 <
3
M4 - oy E
% O
13
= N
R
N
& R @ SW-10
=
s} -
SW-10

|
€] .| 2 : ;
b 8 <
< A 745
E Jetiel =
| |
[ &=
-
M5x0,5
- & .
M5x05_ N \/Eﬁfﬂi’d m
+0,3 +0,3|
28,8 28,8
40
40
s HEY A =
J‘ﬂn‘L &S 101 %S 202 EEM 33-56/-57/-58/-59/-60/-61
-~ - PR v et PR
2.3 ., 4 He e i 4
- G [LE Bt i Bl
7o) n
g’ S ﬁ _’, A
$10 @10
EEM 33-56/-58/-60 EEM 33-57/-59/-61

$HEH1E:022-89887198-8003/23712219-8003
{£H:022-89887199/23727926
@iﬂ:;www.cnnovo.cn\ Www.chnovo88.com
BR 35 nwtkS@cnnovo.cn
BEAA:FET13114891271



KA R A B S ALHARA PR 3]

novotechnik

Siedle Group
BEEY LS1-0025 LS1 -0050 LS1-0075 LS1-0100 LS1-0150 LS1-0200
BESH B
AR 25 50 75 100 150 200 mm
Harf Ltk < £0.1 <015 % FS.
WMATRAE + 05 mm
Hth s 0.1...10 VDC ( AR i S 3K BHHL 470 kQ) /MR BLAL > 10 kQ
AL s L 10 ... 0.1 VDC ( BIARKG i SR BHHT 470 k) it/ R BRAL > 10 kQ
4 ... 20 mA (a3 < 500 Q)
20 ... 4 mA ( fa#k < 500 Q)
HL A AR P9 S BEL 120 Q
i AE SR R A e K 30 VDC WL 5 e ) BB DR (AR
il 3% EEE A > 950; IkE K > 50 Hz
DEReS:3 FHBR < 10mv, @ <3mv mv
X <5mV, @H <2mV mV
FEEIR <16 UA, W <5 pA pA
IEHBE <8 pA,  HlH <3 pA HA
TAFHRIE 16... 30 VDC
AR RN S Ik 10 % Vss
TG SR v e T RE <1 w
% R KL <50 ppm/K
RS <40 (KA) VDC
MR , IR 1) LR AR A UpP 10 Upnax VDC
#s %Lt (500 VDO) >10 MQ
WS
ek (RsHA) 63 88 113 138 188 238 +1mm
BLbkATRE (R~ B) 30 55 80 105 155 205 + 1.5mm
i
gL 140 160 170 190 220 260 g
AT I 86 107 132 150 190 230 g
TAEZ Ty (AFJ510]) <0.3 N
R IR R + 1 mm PR, 2.5° fi I
151 2 R ET ¥y dmc K SL v AR 140 Nem
ESE
AR IR R Wi dk 40 ... +85 °C
HgE -30 ... +100 °C
AR S 0...95 (JCi&HE) %R.H.
fiishdi kil DIN IEC 100 (11 ms) ( ¥k ) g
ik kriE DIN IEC 20 (10 ... 2000 Hz, Amax = 0.75 mm) g
B 4124 2% IP 40 DIN EN 60529
ek TAR#E 5 m/s
Fe K AR B 5 g
F i > 100 x 10° n
MTTF (ISO 13849-1, TL#k 5L FHkE) 24 A
i# 2 CE- #rfE
FUReL g RF w3558 EN 55011, class B
B bR ESD EN 61000-4-2

ARSI EN 61000-4-3
5% EN 61000-4-4
RF % G4k EN 61000-4-6

$HEH1E:022-89887198-8003/23712219-8003
£ H:022-89887199/23727926

gt :www.cnnovo.cn, www.cnnovo88.com
H%E nwtk5@cnnovo.cn
BEAA:ET13114891271



REE KRR L O NCERA R

novotechnik

Siedle Group

- 411 - 10 1

1T R4 5t BA
HNAES T A E A, 3T S A BB N 2
e H AR AR B A0 27
L s 1 - 0 2 0 0 - 00
TiEERETEE
PR g L
#75 0025 mm# 0200 mm

001 f& K& ANRHAT

BSED
4: Bitlhbin

EEEHESED 4
1. WEHH
2. WLiEsin

BNREEEHED 41_

1: 0VDC ... 10 VDC (it i Bt )
2: 10VDC ... 0 VDC (5 dibi k)
3: 0VDC ... 10 VDC (ki kit
4: 10VDC ... 0 VDC (fEdi#i =)

BNREREHED 42_

1: 4mA ... 20 mA (R i BER)
2: 20 MA ... 4 mA (B Bi)
3: 4mA ... 20 mA (IR B )
4: 20 mA ... 4 mA (IiRE )

BSERE
101: 3%FM8x1 Bk, Al
202: NThaAE2RHLEE, Rl

TENEEE
o 2N Z-45 HFe, & 44 MAx10 BRET
o 1 AERER

HRIEZ KA E HI 7 ma
o ARIMEFE, WAERS, . AFESL AR g 77X

$HEH1E:022-89887198-8003/23712219-8003
%%:922-89887199/23727926

%X ﬂ::www.cnnovo.cn\ Www.chnovo88.com
BB #E:nwtk5@cnnovo.cn
BEAA:FET13114891271

RS
o 4AZ3-31RIIE, & 44 MAx10 BRET
PR 059010

o 3EFM8x 1 MEHESL, 1 PUR BElciL4E, 3x0.25mm2
2 KHL4E, WS, EEM 33-56, FihZmS: 005602
5kHLSE, #IE. EEM 33-58, FEihfmS: 005604
10 kHL4E, WS . EEM 33-60, M%S: 005606

o 3% M8 x 1 M E), 1 PUR bRl 4i, 3 x 0.25mm2
2 KHLSE, #IE. EEM 33-57, FEihfZmS: 005603
5okgi, WS, EEM33-59, /f4ms . 005605
10 k45, 5. EEM 33-61, %% : 005607



